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Write all the chemical equations balanced including | 23376 4.6 a3 S¥ slael! goe <GS
the conditions of the reaction: Jelall) Doyl 583 ae
Answer the following questions: s AGY Wi e ol

() 91 (1) oo Al ¥ i -

1. Choose to answer (a) or (b):
Write the scientific expression
indicated by the following statement:

(a) A group of elements, whose (4d)
sublevel is successively filled with
electrons.

(b) The process of changing the big size
iron ore into a smaller size suitable for
reduction process.

2. Choose to answer (a) or (b):

Explain:

(a) Copper is considered as a transition
element, while zinc is not a transition
element.

(b) Elements of the first transition series
are characterized by a variety of their
oxidation state.
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3. Choose to answer (a) or (b):
Write the total reaction that occurs in:

(a) The extraction of aluminum from
bauxite electrically.

(b) The Fuel Cell.

4. How can you detect practically, by one
experiment, for the acetic acid?

1(0) 91 (1) oo gl 1 i -
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5. Choose the correct answer:

@ Lead sulphate deposits on the cathode.

When charging the lead accumulator:

(b) The concentration of sulphuric acid

decreases.

@ Lead accumulator works as an

electrolytic cell.

@ Lead atoms oxidize.

6. Choose the correct answer:

®O06

The general formula of alkynes is:

CnHonr
CnHon

CnHon-2
CnHonsa
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7. Complete the table below to detect for
the following cations:

oo ALSE S Jgdadt JeSi -V

- Atal) Sl g5 ST
Cation detected Group reagent Chemical formula of the precipitate.
O Ladst 090U de gamall asls O 95at | el 21t AleasSI ) dacall
First:

Calcium cation

Y YxiLY :’}'3“
P gt IS

Second: |
Aluminum cation

03518 L5y

potn 3!3(‘ """""""""""

8. First : What is meant by hydrolysis?

Second : Write the chemical equation for

the hydrolysis of ammonium
chloride salt.

Socaid! : 02 gunaallle iji =A
et l It Al slae 81 + LA
Cpoige¥! i )yglS mled

r1a-Gys i 123 o



(A0 ooy ¥ ARUL) o eSS - daladt A 3L Al 5l ALY 381G & Loial

9. Show by chemical equations, the catalytic
hydration (addition of water) to each of:

First : Ethene.

Second : Propene.

3yl AlliadSH O¥alaatly sy -4
100 UST (5 Lat) ABLSY) At jad
L}:‘:‘f?‘ :’Yj“
gt Lol
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10. Choose to answer (a) or (b): (@) 91 (1) e Al juid -\
Write the scientific expression 13 kiall e JIH alall pdlasadl o1
indicated by the following statement: : [d

IS =S pgdas Jgtoe (1)

(a) A solution of a known concentration

ioh i . S5 eatiY ATy
which is used to determine the unknown | = g ?. :
concentration of another solution. S 962,31 Jgloe
g beenS bl ()

(b) A chemical analysis which aims to
know the components of a substance | @85 oo 2, )
whether it is a pure substance or a | add COLS #lg—cu 3alo!

mixture of several substances. ge e (ye Lo gline
11. The following reaction has two P B ORR P (v [P PN E-i (R AR
equilibrium constant values at two (i) e OIS Sy
different temperature: il B oy

Hz(g) +Iz(g) = ZHI(g) Kc=50 at 448°C
Hz(g) +Iz(g) - 2HI(g) Kc=67 at 850°C

Is the reaction exothermic or ools al ayll Jelaill Ja
endothermic? Explain your answer. Wl | e g S50 pmld
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12. A closed glass flask contains nitrogen
dioxide gas at room temperature.
Show by a chemical equation the change in

colour that occurs when cooling the flask.

13. Choose the correct answer:

If 30 ml of nitric acid is neutralized
by 10 ml of magnesium hydroxide
whose concentration is 0.3 Molar, the
concentration of nitric acid equals:

0.01 Molar.
0.02 Molar.
0.1 Molar.
0.2 Molar.

®0eE

14. Show by a chemical equation :

The reaction between Toluene and
chlorine in the presence of iron.

ey goudlieala)ydyge -\ Y
2 O gyt st ol
42 aY1 5y o A ya
Eralond | ) A s laadly i g
Qo9 -0 e sl B

s dovouall Al Wi i) -\ Y
e s Jos 30 Jalas 13
e gy (ya Jo 10 g sy i
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15. Explain: spwd -\0
In chemical reactions, Salicylic acid Gl ot e Gllcuy
sometimes behaves as an acid and other | wat o iloaS3EMelast
times as a phenol. ¥ al| & gl Blin g polen 1

16. Choose to answer (a) or (b): () 91 (1) e Ml M i -\
Show by ch(?mical equations, AL E¥aladlly i
how to obtain: ke Juasi a8
(a) Ethene from ethyl bromide. ¥ e g (pe ¥ (1)
(b) Benzoic acid from benzene. O (e Blig 3l e (o)

[9]

r19-wja i lleig—oJ



(A 3oy 1 ARUL) o eI - dolaldl Al g3 LY At 531 ALY 3a1glds G Lomiial

Cathode Ads S Jeem -\ Y
2 sl wgﬂ‘d.:.l.a."d!

17. The figure represents
the cell used for the

electrolysis of Aayp LS Joto ot

copper (II) chloride Z (ID) gulmatt

solution. -
--ZC _T_ [
CuCl,

First  : Write the equation of the total v 3o I o il Wslans LS 3 5l
reaction, showing oxidation and JIe Yy 5w Lgde
reduction on the equation. D9S3 aga OIS 1) sLals

Second : If the reduction potential of chlorine | Jijisl agsgctga 1.36
is 1.36 Volt, and the reduction e g8 0.34 Ll
potential of copper is 0.34 Volt, At ST AndIY 5 4301 ‘
Calculate the electromotive force | = ¢ o
(emf) of the cell. -(eml) a4

18. Show by chemical equations each of: z‘yﬁs Lol Y s ladt g -\ A

First : Reduction of the iron ore in the | o? “=>tials Ji35st ¥l
blast furnace. L Ladl O pal!

Second : Roasting of siderite ore. oyt als yacesd Lol
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19. Choose to answer (a) or (b):
Write the scientific expression
indicated by the following statement:

(a) A phenomenon in which many organic
compounds have the same molecular
formulabutdifferent in structural formula,
chemical and physical properties.

(b) An organic atomic group which does
not exist alone and it is derived from
the corresponding alkane by removing
one hydrogen atom.

20. Choose to answer (a) or (b):
Show by a chemical equation the effect
of heating on:

(a) A mixture of sodium acetate with soda
lime.

(b) Chlorobenzene with caustic soda under
high pressure.

1(20) 91 (1) e Ayl ¥ s -1 4

£ 3yl e I alall pllauaal S
4 g OLS poduce 39 95 palls (1)
Bty Al jor Aaeio (B & RS
G2 lpdns (o alind Lgisdy
ooty bl L

Al 3ty Al
¥ Ay gnae G de gann ()
(p B g B3 s A 93
B33 £33 may Jalaadf OISIYY

A8 (o gy

1(2) 91 (1) oo Aala W1 i =Y 0
P A0 LeuSI) Walaally udg
¢ Oy
ps2agualt Olieul (yo dayts (1)
.gg.s}mﬂ).g-..n&n
b gadl ps (309540 (@)
el pe dadds S 4 9IS
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21. Choose to answer (a) or (b): () 91 (1) e Al W >3 =Y
Explain: 2 s
(a) Stopping the production of the electric | g3 Lt atgs adsiy (1)

current in a galvanic cell when the salt | +ie aolal=tiadsdi e jalall
bridge is removed. cimlalt 3 lailal ad)
(b) The primary cells are preferred to be in | &ds¥1 LM 5Ol i (o)

a dry, not in a liquid form. ~Allu Cowed 9 A8l 55940 B
22. Explain a practical experiment to 20 g dsT Ay ) =YY

show the effect of the surface area of the | OMelaielt plow Ao lie
reactants exposed to the reaction on the | Juas ole Jelaill o aalf
rate of the chemical reaction. R PP (PP {

r19-wja i lleig—oJ



(P ol 31 AR £ LS - Aalalt 2 93 LA Psad 501 AL B3t 5lmcial

23. Choose the correct answer: s dAsvouall Al W) 5 YV
The compound which gives Ethanoic acid | jaes lass @31 oS oot
on hydrolysis is: ke Al s Gl g3l )

@ CH;COOC,Hs.
(b CH;COCHs.

© CHsCOOCHs.
@ CeHsCOOCHS.

24. Calculate the solubility product Ksp of et Kspaa a1 Juol cowst - Y £

silver chloride (AgCl). Knowing that: its - AgCl auaat a s
solubility degree is 110~ M. 110" M dibsgh A ya s Lake

25. Show by chemical equations, how to A0 LS O¥ s ladt b sy - Y0
obtain Gamixane from ethyne. o0 OluSalad! e Juasi oS
- Oba¥
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2 Z ’
26. Mention one use for each of : 1000 ST 1k | 9 Lo il LGS - YT
First: Lithium ion battery. oI O gal A lay ¥ o
Second: Nickel chromium alloy. P90S IS ASCew sLald

27. A sample 1.47 g of hydrated calcium 29l IS31 ) 9IS (y0 Hiie Cibnw =YY
chloride (CaCl,. XH,0) is strongly heated | (CaCl,. XH,0) & ju—geical!

till its mass becomes constant at 1.11g. lued Luseas 147 g Lgitis

Calculate the number of moles of L 11g e LS ol i
crystallization water (X) bound with Wi pal! (X) pLett olo DY ga 2o o
one mole of calcium chloride. Pl 01 g8 (e g J o o
[Ca=40,Cl1=355,H=1,0=16] [Ca=40 , C1=35.57,

H=1, O=16]
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28. Choose to answer (a) or (b):
Write the scientific expression
indicated by the following statement:

(a) A dynamic system takes place when
the rate of the forward reaction equals
the rate of the backward reaction, and
the concentrations of the reactants and
products become constant.

(b) At a constant temperature, the rate of a
chemical reaction is directly proportional
to the product of multiplication of the
reactant concentrations.

1(2) 91 (1) 5o Aala ¥ i - YA

13yl le 11 ottt pellauaal | LS

Loctie ooy Sealion altas (1)
garall Jelaldl Juas ol
iy uSall Je el June g
291919 OMe Lol | D1 8 )5

el By pomd V> 53 S i ()
Lol Sl Jolait e pus
53 s Juols s Loyl
O Me Lot

29. Explain:

Magnesium sulphate solution is used to
distinguish between carbonate salts and
bicarbonate salts.

lm -**
Pyl Ladl Ol 18 Jglons putdin
L g oS o (it a2
Al g3yt 7 Sl
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30. Choose the correct answer: s Asvouall dala¥) 5 -
Ethyne reacts with an excess amount S pe (mlin¥) Hla Jelaty
of bromine water dissolved in carbon = G2 oliell gl (e 5,319
tetrachloride forming: PR PR [INVRIN TS

1,2 dibromo ethene. Ol gy Al 2,1

1,1 dibromo ethene. Okl gy ola 1,1

®O06
OO®OO

1,1,2,2 tetrabromo ethane. bl segmwely2,2,1,1
1,2 dibromo ethane. Ol ga g Lila 2;1
31. Explain: sy =Y\
The electric conductivity of hydrochloric | jaes Jocingia sy ,5lus ¥
acid 1s not affected by dilution, while Wi eI LA Gl 55iS g puieg!!
the electric conductivity of acetic acid is '

a0 Leio slatly dawass

affected by dilution.
eIl LAY Gaes Jo g
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32. Choose the correct answer: s dsvouall Wl W ) =YY

The ion which is characterized by being | asls cacatios i1 09!
diamagnetic and colourless 1s: L Ol pu g rudaline Lis

@ Ti*
@ Mn2t
@ Fe3*
@ V2t

33. Explain: ' i =YY

The high melting and boiling points of Oleld g lgattGla s plasyl
the elements 1n the first transition series. | .3 o¥ 2oy alulul ywslic

34. Choose to answer (a) or (b): 1(2) 91 (1) e Aala W1 i -Y'E
Show by chemical equation, how to obtain: ol s i Al S 3ladl g
(a) Diethylether from acetic acid. RERINEI R EEPWEI()

(b) Phenol from benzene. L 2

O (o J gt ()

r19-wja i lleig—oJ
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35. Complete the table below to ALGer SN Jodatt JaSi -YO
correspond the chemical name of the : AQ L) dlduay oS yalt gl
compound with its structural formula.

Chemical name Structural formula
P PP TP JOR [P LSL ) dacat

5

~ CH;-CH;-CH;~CH—CH,
}Z l

—

= OH

1
3

~

S |Salicylic acid.

©

P

o

n
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36. On passing an electric current for two Oie L Btal 3 g8 HLG i pal e -1
hours through iron (II) chloride solution, ey (I1) et )5S Jglone 58
5.6 g of i.ron is.deposit.ed. .Calculate the s e 56 g
current intensity passing in the circuit. . e a
(Fe= 56] @ Hladt HLAY) Bl Cowss

. [Fe= 56] Jsloalt

r19-wja i lleig—oJ
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37. Choose to answer (a) or (b): 1(2) 91 (1) (e Wl W1 T =YV

Write the scientific expression ke JIAM alal pllaaal| S|
indicated by the following statement: -
SiHal Silees JSU ddee (1)

daomad | daw gt Jads
Let3ls peobiall ooy »i (o)

(a) A process of chemical corrosion of metals
by the action of the environmental effects.
(b) A descending arrangement of elements
with respect to the negative reduction | ¥ ‘.’:‘éyt’"@"" Apeaitly
potentials and ascending relative to | “«db buelaiy adlul

the positive reduction potentials. e gl JI15 Y 2 ggnt
38. Show by a chemical equation the Mol i eI Al i g - YA
ammonolysis of ethyl acetate. ¥ Ol (g yaLat

r19-wja i lleig—oJ
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39. Choose the correct answer:

The compound that involves in the detergent
industries after treating it with caustic soda is;

(@) Sodium salt of sulphonic acid.
@ Sodium salt of alkyl sulphonic acid.

() Benzene sulphonic acid.
(@ Alkyl of benzene sulphonic acid.

 Aovowall Al S i) -Y4

Qm‘hm‘;'ﬁd}b\gg;\ﬂg‘dﬁl
:3&@3&|‘:}thng%&\2@|

Lo galud) yaemt (0 433 guall zlal| @
d.:SJ;S ‘“_,_AH.\j_ga_N@Le_N @

L gAL (3 paes (D)
L A (5 e St ()

40. Complete in the table below, to BETPwil S (i (] PRCH (S I 3
distinguish practically between sodium FNTIVIPYS
phosphate and sodium sulphate. 2533 gual | Ly S 9 2 433 gusad | ol 93
(without writing chemical equations) (ASleasS ¥ alae LS (o)

Reagent sodium phosphate sodium sulphate
a2 a3 P guall Olawgd p 923 gual | DL )8
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41. Explain: s puwd - £\
The iron pipes that are buried in moist soil | 38-d! il pulse Juosi @iy
are connected with a magnesium plate. poruidlell (o gladds 1 01 (2

42. Choose the correct answer: s dseoall Al W) 5l - Y
Diluted hydrochloric acid is used to o) iS 9 ygd | paes pudiiun
detect an anion and a cation, which are: 050l e CadSH! B Cadsedl

tled O9GlS g
(@) Sulphate and Mercury. aapyot st (1)
(b) Phosphate and Lead. REPSCTIX PRI (B
(©) Nitrite and Calcium. FOVRICINENCRUIN &
(@ Thiosulphate and Silver. ity ol st ()

Q- gja i lJeig_—oJ
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43. Choose to answer (a) or (b): () 91 (1) e Ml M i - ¢ Y
Shovy by chemical equations, how to A LI S Laally g
obtain: ol Juasi (oS

(a) Iron (II) oxiqe from iron (IT) sulphate. S (po (1) oo weesST (1)
(b) Iron (I1I) oxide from iron. (D) s

sty () o ST (0)

r19-wja i lleig—oJ
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44. In the following equation: S Jelal o -¢ ¢
Nag + 3Hag = 2NH3y  AH=(-)

First: Calculate the equilibrium constant | (K¢) oi35%1 cold ded cows! Y f)

(K¢) of the reaction. O3S 53 O ceade 15 Jo Lty
Providing that: the concentration of (Ha=1 M) . (N2= 0.6 M)
gasses are: ~
N=0.6 M (NHs=6 M) —
H2=1M e il bew JS b Le :Lals
NH, =6 M. 9 aLaid | o) Jane
Second: What is the effect of each Qf dasial 5L |
the following on the rate of ammonia
formation? Bylpd) Az 3 aaly -]

I - Increasing pressure.

IT - Increasing temperature.

r19-wja i lleig—oJ
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45. Compare in the table below between

Okt L J gt | (0 o yL8 -8 0

alcohols and phenols. + SN gl g O gamSI
Poin{ ,0 f Alcohols Phenols
comparison
Y g Y gical!

2\3)‘.3.0.”4:.-3

First :
The effect
on litmus

solution

e ol :&,‘t
M‘.\L‘c

Second :
Reaction
with halogen
acids

Jelait! :Lals
u'al.a:-‘}U&n
e ekl
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